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A(B+C)=AB + AC, (A+ B)C = AC + BC

LEENOE SR B DFEEIL,
3z (x? + 2z) = 3z* + 6x°
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A=2>—32°+2, B=4x+5DL%Z,
AB = (z° — 3z° 4+ 2)(4x + 5)
= (x> —3x*+2) -4+ (> — 322 +2) -5
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(a 4+ b+ c)(a? + b* + ¢ — ab — be — ca)
= a(a® + b* + ¢ — ab — be — ca)
+ b(a? + b* + ¢* — ab — be — ca)
+ c(a? + b* 4+ c® — ab — be — ca)
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eRATHES L, BEERWICEIRETZ 2.

il (1) (a+ b)? = a* + 2ab + b?
(2) (a—b)? =a®— 2ab+ b?

EI (a 4+ b)(a — b) = a® — b’
EI (x +a)(x+b) =x°+ (a+b)x + ab
(ax + b)(cx + d) = acx?* + (ad + be)x + bd




¢ 1| D220RK(a + b)? = a® + 2ab + b
(a — b)? = a? — 2ab + b*
i3, “bE—b ICEEMAB ZET—HASMMAEIPEIND

¢ 2| (a+b)(a—0b)=a®—b I,
3| (z + a)(xz +b) = x% + (a + b) + ab DEFFNLIFE
cElLTEv25n%. HFEIERTDH 5.

e 3|14, 4](ax + b)(cx + d) = acx? + (ad + be)x + bd
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3RXRADERICOVWTIE, ROAXIPEETHS.
(1) (a+b)(a* — ab+ b?) = a’ + b°
(2) (a—0b)(a*+ ab+ b*) = a® — b’

6] (1) (a+0b)?=a®+3a’+ 3ab® + b

(2) (a—0b)° =a’— 3a’b+ 3ab® — b’
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